BC173_Rozbudowa sieci wodocigagowej w Wojszkach
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] TABELA 1. Obliczenia do przedmiaru robot
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5 [RAZEM 48,5 XX | xx | 92,3 217,0 20945 249 43,7 19988 520 137 | 3972
6| wl w3 | 2020 |1,00| 1,90 20,20 38,38 16,7 20,20
7 wd | wd 3,00 1,00 1,90 3,00 5,70 3,00
81 ws wh 300 1,00 1,90 3,00 570 3,00
9 |w81 w84 | 1300 |1,00| 2,20 13,00 28,60 13,00 13,00
101 w9 HPP1 530 1,90 10,07 0,00
11|w9.1 HPP2 400 1,00 1,90 4,00 7,60 0,00
12| w12 w13 1,00 | 2,20 14,60 32,12 14,0 0,00
13| w13 HPP3 2,00 1,90 | 2,50 | 9,50 0,00
14 |w15.1 HPP4 2,00 1,90 4,00 1520 0,00
15| w16 w16 1,00 | 1,90 | 4,00 | 7,60 0,00
16 |w16.1) HPP5 2,00 1,90 4,00 1520 0,00
17 HP3 1,50 | 1,90 | 3,50 | 9,98 0,00
18 | HP4 w26 1,00 | 1,90 16,50 31,35 13,7 0,00
19| w25 HP4 14,7
20 |Podejscia do 9. HP wg tabeli w PW 10,2
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